Cross table for London Banks Team Swiss 2013-14

Athenaeum Athenaeum Bank of Barclays Barclays Cosmopolitan Legal & RBS RBS

Team 1 2 England 1 2 Banks HSBC Legal General 1 2
Athenaeum 1 3% - % 1-3 17 - 2-2 4-
2% 0
4-0, 1-
Athenaeum 2 1-3 2-2 1.1 0-4 3
Bank of a1 2-1,1%- 2% -
England /- 3% Y 2-2 1%
2% - 1% -
Barclays 1 3-1 1 2
Barclays 2 8 -
Cosmopolitan 3.1 2.9 1% - 1-3,0 3%
Banks 2% -2 -1
2% - 4 -
HSBC 3-1 1-1 1%, 2-2 0
22
Legal 3.1 3-1 2-0 2-2,2- 4 3 .2
0 ., 0
1%
Legal & = 3 4 2-2,1-3  2-0
General
1-3, 1
RBS 1 3% -1 3h-1h, 3-1 o
1% - 2% ?

RBS 2 0-3 1-3 2-0 0-4



